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Pre calc Review 1.1 — 1.5

DIIE Period
1. For each determine whether the relation is a function.
Also give the domain and the range.
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2. Determine whether each equation determines y as a function of x. ( yes orno)
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3. Graph f(x)=x* —4and answer the following questions. Where possible, answer using interval notation.
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4. Graph each
a. y=-—x+2 b. y= | X | c. firsty=4 then x=-1
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5. a. Show whether f(x)= x*+x-3 is odd, even or neither. X
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7. Write a linear function is slope intercept form with the given info.

a. passing through (—4,2) and (1,6)
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g. Are these lines parallel perpendicular or neither?
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b. slope 2/3 through (6,-9)
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d. vertical through ( 5,2)
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f. passing through (2,—4) and
perpendicular to 2x — 3y = 6
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8. Find the average rate of change of f(x) = —x?+5x fromx=-2tox =3
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